Math201.01, Quiz #1, Term 163

Name: Soluhens

ID #: Serial #:

1. [3 points] Dascribe and sketch, with directions, the parametric curve
given by

x = —sint, y =1 - cost, 0<t<3n/2

2. [3 points] Find the length of the polar curver = 82, 0 < 0 < 7.
3. [4 points] Find the area of the polar region that lies inside the curve
r = 2co0s0 apd outside the curve 7 = 1.

Good luck,

Ibrahim Al-Rasasi
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Math201.02, Quiz #1, Term 163

Name:

Sa,qhms

ID #: Serial #:

1. [3 points] Dascribe and sketch, with directions, the parametric curve
given by

¥ = == T, 0 < t<da,

2. [3 points] Find the area of the surface generated by rotating the
parametric curve x =3t —t3, y =3t?, 0<t <1 about the x —
axis.

3. [4 points] Find the area of the polar region that lies inside the curve
r = 1 — sinf and outside the curve r = 1.

Good luck,

Ibrahim Al-Rasasi 5
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